- Skeleton equations

- Na + Cly — Nac

- Mg+ 0y MgO -
.A1203—s-Al+02
o Hy + Ny NH;

- C+Fe;05—Fe + CO

- Fe,03 + HCl — FeCl; + H,0
| 10. '
? 11.
| 12,
13.
14,

» 15,

In order to balance 3 chemicai equation, one must follow certain rules:

1. Make sure the formulas are correct for il the products and reactants,

2. Make sure the reactants are on the left side of the arrow and that a plus sign séparates indi

reactants and products.

3. Count the number of atoms of each element on both sides of the equation. A Polyatomic i

A+ S —m Ag,S

KCT+ Fy — KF + Cl,

NaBr + Ag,SO, —- Na,SO, + AgBr

Al + CuSO,q-—p- Aly (S0,4); + Cu
P+0;—p P>0Oq

Al + H,SO, ~—p Aly (SOy); + H,

SrBr, + (NH,), CO3 ~m SrCO;5 + NH,Br
CoHg + O, CO, + H,0

Fe + Op —p Fe;O,
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